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HISTORY (PAPER-II)

Time Allowed : Three Houa Maximum Marks : 2501

QUESTION PAPER SPECIFIC INSTRUCTIONS

(Please read each of the following instructions carefully before attempting questions)

There are EIGHT questions divided in two Sections and printed both in HINDI and
in ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be
attempted choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the
space provided. No marks will be given for answers written in medium other than the
authorized one.

Word limit in questions, wherever specified, should be adhered to.

Attempts of questions shall be counted in chronological order. Unless struck off, attempt

of a question shall be counted even if attempted partly. Any page or portion of the page
left blank in the Question-cum-Answer Booklet must be clearly struck off.
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WUE—A /SECTION—A

( smyfe Wi )

( Modern India )

1. ffafe yds $o7 6i arcieHes S @ 150 Tsal § fifse

Critically examine the following statements in about 150 words each : 10x5=50

(@) “RE I =S A AEE H G g | T HIfE i g i FaRd | saw B e
38 e J )’
“Dupleix made a cardinal blunder in looking for the key of India in Madras :
Clive sought and found it in Bengal.”

(b) ] fademm= @1 #a o1, “EH AUt gUaA AenfaEdl F HEpld % St e faw, dedie,
SfieH-%R I I e, =R srdedr 3R Anfes T H qeh-ieh! 9 96 R =gy’

Swami Vivekananda opined that “We should give our ancient spirituality and
culture and get in return Western science, technology, methods of raising the
standard of life, business integrity and technique of collective effort.”

(c) “tamaret i = 8§ gar e—unfiyes, T e 98 @, W A o wena gren avfy @@ @ 6 ag
o1 ferart & figem i e 3, ﬁwﬁﬁﬁ%%wmﬁm AT 3T
Sd I 6% THE Tl
“Ryotwari falls into three stages—early, middle and late, and the only
description common to all is that it is a mode of settlement with small farmers,
so small, indeed, that their average holding is, on recent figures, only about
6% acres.”

(d) “Tu ¥ aga ¥ e w0W % wEwA § & R o, ad 1921 § T Y & 99 1§ S ||
B 1 IR AR AEERE W o ... | g wrefa @ e w1 e B W e e ey
“Many of us who worked for the Congress programme lived in a kind of

intoxication during the year 1921. We were full of excitement and optimism ....
We had a sense of freedom and a pride in that freedom.”

(e) ‘TSl It U W S H UL IAh ATHT 2ATTH WY B, WA FT A 2y gl #§ B, et
et oft oftfeafy 4 féan =1 v <& son 21 emuet dier s |t ot e oy 9 W s W
Ted T 9 & A & fow iy A€ I8 2’

“Gandhi’s body is in jail but his soul is with you, India’s prestige is in your
hands, you must not use any violence under any circumstances. You will be
beaten but you must not resist; you must not raise a hand to ward off blows.”
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2. (a) Ro o W I FEA &, IR Wit w1 YA I o1 R el Afgend warg e off |
el e Ste @ g0 & o Wi, =W, s, o6, e g ufdn e ke % e wr A
ST AT| T i |
“Weaving”, says R. C. Dutt, “was the national industry of the people and
spinning was the pursuit of millions of women.” Indian textiles went to
England and other parts of Europe, to China and Japan and Burma and
Arabia and Persia and parts of Africa. Elucidate. 25

(b) ‘G ¥g wEve g 98 ® T eyl wwa & gasiT & wewet 3 o 3 gl ol we
T o TR e A 38 QSR A % g gan 5 o 3fa 317 et S
$ifm|

“The first point to note is the continuing importance of religion and philosophy
as vital ingredients in the modern Indian Renaissance. Indeed, there is as
much reason for regarding it as a reformation as there is for treating it as a
Renaissance.” Critically examine. 25

3. (q) “‘DNudi waed F g § IRa & THETE e e kT T AT A B F Gid T
il off 3 3l Farer, 1900 # Usa wiE w1 w o A foran o - W favamw ® fF w0w 2
0 BT B of 40 s 3 FR AT § Y gu e Wit ge B wemEa 417 e
ity |
“At the dawn of the twentieth century Lord Curzon, the Viceroy of India, was
full of hostility towards the Indian National Congress and he confidentially
reported to the Secretary of State in November 1900 : My own belief is that the

Congress is tottering to its fall, and one of my greatest ambitions while in India
is to assist it to a peaceful demise.” Examine. 29

(b) “‘wafd 1919 = rfufEm 1935 & wrfufEm gro forenfia &1 o, vt i wdE @ aed
Tyl o % gu B F e oft Sudh geRtee o @, o g | s ue @ g
o &1 a1’ wwE il

“Though the Act of 1919 was superseded by that of 1935, the preamble to the
former was not repealed—the preservation of the smile of the Cheshire cat after
its disappearance, and the latter said nothing about Dominion Status.”
Elucidate. 25

4, (a) ‘‘Igfema B @ IR 38 0y & 29 g o Sem TEE % avfion yra & gl @i S
STEAFATSAT % 9id 39 @A w1 &9 G, sug 3 sifa-enaia deve & faeg w5 3w Afimm
T =TTl Tew H s aron off 6 sfieifies saf eew & gw wEd sady % a=e ® e
F M| | 9w # @ @ ogen) uliew i)
“Notwithstanding the quest for modernity and the antagonism that guided
Nehru’s attitude towards the inequalities inherent in the social structure in
rural India, the Congress Party did not carry out a concerted campaign against
discrimination based on caste. Nehru’s own perception was that industrial

growth was bound to break the stranglehold of this feudal remnant. This,
however, did not happen in India.” Examine. 25
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(b) “W%Wm%ﬁmma,mm@mmm,mm

w-ﬁ—wm@ﬁ%g@@awaﬂ,mgﬁaﬂﬁﬁﬁmﬁﬁﬂmmmm

%W@ﬁfﬁa@qﬁm%lwﬁw%mqﬁa%ﬁm%ﬁﬁW,@S@aﬁsﬁ
qaﬁwﬁaﬁammﬁﬁqwm@” v R

«The reorganization resulted in rationalizing the political map of India without
seriously weakening its unity. If anything, its result has been functional, in as
much as it removed what had been a major source of discord, and created
homogeneous political units which could be administered through a medium
that the vast majority of the population understood. Indeed, it can be said with
the benefit of hindsight that language, rather than being & force for division,
has proved & cementing and integrating influence.” Examine. 25

wue—B /SECTION—B

( fory e )
( World History )

5. ﬁﬁ(ﬁ?@ﬂmwﬁwﬁﬁmﬁﬁﬁaﬂm 150 T # H

Critically examine the following statements in about 150 words each : 10%x5=50

(@) “W%W,ﬁummﬁraﬁaﬁmwﬁmﬂmﬂwmuﬁaﬂ%,méﬂm
W@gﬁ?ﬁmmﬂlﬁgﬁﬁmﬁﬂ?ﬂ%l”

“For Kant, Enlightenment is mankind’s final coming of age, the emancipation
of the human consciousness from an immature state of ignorance and error.”

(b) “@5:ﬁ-ﬁneﬂaﬁm%ﬁﬁl@ﬂ@,g@ﬂaﬁ@ln&,ﬁﬁwﬁwwf&@
aﬁﬁgﬁmﬁmaﬁwﬁam,mmwmmﬁwwf’

«six hundred thousand men had died. The Union was preserved, the slaves
freed. A nation ‘conceived in liberty and dedicated to the proposition that all
men are created equal’ had survived its most terrible ordeal.”

(c) “mﬁ%ﬂaﬁ%@ﬁwaﬁqwmm@mﬁﬁéﬁﬁﬂ%%,aﬁm
WWW@ﬁWWW%,WWHﬁ@WW@WW@
ﬁ?ﬂ?ﬁﬁﬁﬁ@ﬁﬁﬁ%i”

«Colonialism not only deprives a society of its freedom and its wealth, but of its
yery character, leaving its people intellectually and morally disoriented.”

(@ “aRwad 1917ﬁmwﬁﬁ(ﬁﬁwwﬁmwmmaﬁamﬁ&mﬁ
mmwgmm)wﬁsaﬁéﬁﬁ%ﬁﬁaﬂiﬁwﬁ%ﬁm@mﬁquﬁwﬁw
gﬂﬂ%ﬂm,?ﬁ?ﬁ%ﬁﬁﬁ@%ﬁﬁﬁﬁﬁmﬁm%l”

“If the 1917 Bolshevik Revolution in Russia (that resulted in the creation of the
Union of Soviet Socialist Republics or Soviet Union) jnaugurated an
international competition for the hearts and minds of people all over the globe,

the Chinese Revolution raised the stakes of that struggle.”
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(e)

6. (a
(b)
7. (a)
(b)
8. (a)
(b)

“fa-3ufrazfiemwr (Decolonization) THE & ga &1 Ffvam &9 @ a7 s@era &1 519 21 Wy
R ol 39 Frdt 7 el v @ sfoem o @ 3= e T 20

“Decolonization has finished. It definitely belongs to the past. Yet somehow it
has refused to become history.”

I W wEET e W) off T Uy /9 Wl ok TEar iR Iy g i i
T g S Fyerelt @ § ot ofia g f wafy w oft ffo 3@ R)7 e i

“In spite of the careful framing of the Charter, the role of UNO as peacekeeper
and international mediator has been somewhat lacklustre and muted and that
continues to be so even after the end of Cold War.” Elucidate.

“fore o el wremedt o wem a1 A ltemaitie wlEar @ seena aEThd wifalE @ i e
sl g AR Ul ) aheaEs wEtem sy fear man’ fawga e @i
“Change in Britain came comparatively peacefully through democratic process

in the first half of the nineteenth century and a model of a functioning
democracy through ballot box was successfully put in place.” Elaborate.

T HESIETE e T g TaTet e oft ) weeieETS s iy |

“New imperialism was a nationalistic, not an economic phenomena.” Critically

examine.

“ad 1980 W wifdud Ha I FRIER yuell, 33 A guwe # e & fde 1 swmam
g MR wE i)

“By the 1980s, the Communist system of the Soviet Union was incapable of
maintaining the country’s role as a Superpower.” Elucidate.

R wE, A @ T Wt 21 e g i |

“The European Union is the new sick man of Europe.” Critically evaluate.

““emfoes Afth W o UHSH WEA @1 3id BT SR it TAR eafies 9 eniis yonkeE) &
e gied B RRd TR it swmars o wmift gRfa @ ek eam wwe pfed @
SAlRdits a1 g1’ A= i)

“There must be an end to white monopoly on political power, and a
fundamental restructuring of our political and economic systems to ensure

that the inequalities of apartheid are addressed and our society thoroughly
democratized.” Discuss.

* k k
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25

25

25

25

25
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Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting questions :
There are EIGHT questions divided in TWOQ SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5 are compulsory and out of the remaining, THREE are to be attempted
choosing at least ONE from each section.

The number of marks carried by a question [ part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.

Attempts of questions shall be counted in chronological order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer Booklet must be clearly struck off.
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WU A

SECTION A

Q1. ﬁq%ﬁaammmww@mmqﬁmw 150 Y&gi § =T : -

Crltlcally examine the following statements in about 150 words each :
K

(ai)

1
]
I
1
I
|
i
|
|

b

(e)

aﬁﬁaﬁmﬁmm%mawqﬁgeﬁlmmﬁwﬁ
Toreft uvamaepTely I T ot ¥ wafer T T T g, aawrr@ﬁ(mgg)
WA % 3fgd # T e foheart 5 o g ST |7

“‘Plassey did not complete the British conquest of India. Had the English
been convincingly defeated in any subsequent battle in India, then (the
battle of) Plassey would have remained as a minor episode in the history
of India.” : '
“Uimg-SreE gur TemE 3 ‘e’ mn?ﬁavlaﬁ Eo e RE O]
6 et # aen = fen 17

“Montague-Chelmsford reform proposals introduced ‘dyarchy’, but
blurred the lines of responsibility.” .

“1857%%@3%@(&6,Hm7cﬁaﬁtqwmaaﬁwﬁaﬁmwaﬁm

Arguyar Tt 3 e o e

“The military, feudal and traditional overtones of the Revolt of 1857
were overshadowed by its nationalist or proto-nationalist character.”

“1885 T Wﬂr@am%mﬁ%maﬁw w‘sr?ﬁiqtm
T e g 17

“The -‘safety-valve thesis’ does not adequately explain the birth of the

"~ Indian National Congress in 1885.”

“ma.%. T g faeea AGioH &1 wRdA U w9l 9@ oft, Fifh T@ T
T T e on R Wt gt 9 A @ e fo o 17
“M.K. Gandhi made a gross mistake in championing the Khilafat cause,

an extra-territorial issue which cut at the very roots of Indian
nationality.” '

C-DRN-N-#]75B Z

10x5=50

10

10

10

10
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Q2. (a)

(b)

(c)

Q3. (a)

(b)

(c)

“Grepr <l fgeme woell TTev B @ 1 w9 R Ese oft | v, Tl S
&1 e I3 T g § S SArd W uga oo | g, s A
gfg i A 3 framt % 9R Scfter & oem @ o (7 wdem R |

“The Dual System of Government was a complete failure from the
outset. In the first place, the abuse of the private trade reached a
greater height than ever. In the second place, the demands of the
Company for the increase led to gross oppression of the peasantry.”
Examine.

“.as (Pl firgm asmn) TR % som, S Y swwed) fafve
ik w1 gem o fedt W ogomdht vt @ @t ¥ R, o difia
(reushtet) sTaeTl Wi W femn |7 wnTeeTens wHtan SR |

“.. instead of rejecting the plan (Cabinet Mission Plan), they (the
Congress Leadership) resorted to a half-baked legalistic stratagem to
reserve their position on its long-term arrangements and accepted its
short-term provisions.” Critically examine.

“Gga= i § gufren & fore efea snediem, siffarta: et ooifo +
Hean © ToHfa § 319 T Wik & fau 93 @ 2 17 faaas Hifsw

“Dalit Movements for empowerment in independent India have
essentially been for carving out political space through electoral
politics.” Discuss.

“Guferl % sty % fow ofe @ sivefas w5 o | SiEE T

Tt gt T8, fhe s Biitadia ot weeia o |7 aferar w9 Hifvg |

“Politics remained for the bulk of the Moderates very much a part-time
affair. The Congress was not a political party, but an annual three-day
show...” Elucidate. :

‘Tt § fawsH et stae (1909) 1 TR i wft o1, S nERm %
Jrard; a<ier O fim o fomen we wififess =i an \” gfiaor il

“The Anti-Partition Agitation (1909) had an economic character in
Bengal unlike the Extremist Agitation in Maharashtra which had a
religious character.” Examine.

“Ger e 3 G ft I T i, agEe T ¥ omieR e
HTcHATRT ! AT HE & g, TF WH Hifd o1 quiled fhan |7 afewn
e Hife |

“Sardar Patel accomplished a silent revolution by ensuring the
absorption and assimilation of a multitude of principalities without
shedding even a drop of blood.” Elucidate.
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Q4.

(a)

(b)

(c)

<ot o T T R % T e 3 T A, Ty SER el 7 o

&Y T 1 2w A e |7 afdsr Wy Hif

“Though Sri Ramakrishna became the prophet of neo-Hinduism, he
never claimed to have founded any new religion.” Elaborate.

“TRgteRR ST 7 15 3T, 1947 ) URG I 941 BT ? HHSTATE W I8

3 T T e s % wafiwiia v B O e § e A

garrar e o7 | wdteor fifve |

“Why did the British finally quit India on 15" August, 1947 ? The
Imperialist answer is that independence was simply the fulfilment of
Britain’s self-appointed mission to assist the Indian people to
self-government.” Examine.

meﬁmawmﬂﬁwﬁwmaﬁwﬁa
%m%n‘?

To what extent did the Freedom Movement in India influence the
leeratlon Movement in Africa ?

@-,D,(’Mﬂ/—#jﬁ 4
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RCLES

SECTION B

Q5. fmafdfige v e &1 gAIATHS 0o G 150 wisgi # hifd

Critically examine the following statements in about 150 words each :

(a)

(b)

(c)

{d)

(e}

Q6. (a)

“Fa! =1 yaE =gfth I @aFar it R i g 5 = gEEn i gl
il it 7 ¥ F wrem | gy wfta & a7

“Rousseau strove to reconcile the liberty of the individual and the
institution of Government through a new vision of the Contract-Theory
of Government.”

‘T 4§ arvicae 3t st fgal 3 sutiawt i v % fo v IR
TR R fEan ar |

“The commercial and industrial interests created a veritable hothouse
atmosphere in Europe for the establishment of colonies.”

“Yeg TN (YY) IEawE AN | AT &9 H Iqrard) 6 4 |7

“Enlightened despots (Europe) were not necessarily politically liberal.”

“.. geig 0 anyfre Zefim T %1 arfas gy frend e’ o w1 F
3 |... IS F9 W RIS H adHE TSifaR Tt 1832 |/ wefl o w@
%l”

“... the passing of the ‘Reform Act’ marked the real beginning of modern
party organisation in England ... In a real sense, the present political
system of England dates from 1832.”

“Ksﬁ-wga%mmﬁﬁ@a@mﬁﬁ%mﬁm%ﬁmamﬁeﬁ I

“The Russo-Japanese War helped in the rise of Japan as a great power.”

“sfiht i fameaw sTfaea & @i ufed wfis @ R | sEe wmE
TR & e sps gfowmaeft Jar 1763 @ 1775 % | 7 3w |7 wfewr wE
Hfm | »

“American Revolution seems to have come with remarkable suddenness.

A roster of talented leaders emerged during 1763 to 1775 to make it
happen.” Elucidate.

C-DRN-N-#]TB 5
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(b) “msﬁmaﬁaﬁwﬁﬁmﬁam@&ﬁmm@m%m'

e W TEHR R ) W 3I % ar-amE @l w3
TR SEwEns 6t e v % fom il wema 3 @ was
w0l |7 ¢ sl b ST P F NS A, [y A qo A queEd)
foramaT | v 1o |

“If we were to define our conception of the State, our answer would be
that the State is the banker of the poor. The government would finance

and supervise the purchase of productive equipments and the formation -

of social workshops.” In light of the above statement of Louis Blanc,
throw light on the Pre-Marxist Socialist Thought in Europe.

(¢ 1941 vasd & Iud ¥ T vRe & fomR A few dim T kiR +
YRR § HEEA 9qH h ol 2 g
To what extent did the expansmn of European Powers in the late
19" century help in the modernization of Africa ?

N

Q7. (a) “rfirprl Y wiwon fostmifieh i sHaten & for o =i wmEe % T ey
# war o, fix off e & sfem =, %wﬁwaﬁmwﬁ
orsi-a g |7 ghe hif |
“The Declaration of Rights was the death-warrant of the system of

privilege, and so of the ancient regime ... Yet in the history of ideas it
belonged rather to the past than to the future.” Examine.

(b) 1&di & 19a°fwfﬁﬁﬁ,{ﬁvaﬁtqf§mﬁ;éwm%qmﬁ$-a@ﬁaa
il aftormat =51 wuTeierTeRes aftaor Hifsm |

Critically examine the socio-cultural and economic impact of migration
in Europe and Asia in the 18" and 19" centuries.

(¢) 1956 % W Ghe hl Ier sifeufaat s fod=m fifsre aix afﬁmm‘-ﬂﬁ
mwﬁquﬂmﬁﬁql

Discuss the circumstances leading to the Suez Crisis of 1956 and
examine its repercussions on global politics.

C-DRN-N-#ITB ‘
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Qs.

(a)

(b)

(c)

“Q fora g F Fro Wdl @A & weaw @ 09 RN gEW w0 T oG |7
FieEar v FfT |

“Europe was eclipsed through European folly due to the two world
wars.” Elucidate.

“bapd H THiAG Tgarg H AW T T JEIEE I THR qER
o1 o Rirg TR T138 315 aa7g & faada & faames famm 3 saad wifd =
78 o fear a1 ¥ fom=m fifsg |

“The language of narrow nationalism heid at Frankfurt destroyed the

German Revolution; as the fatal idea of aggrandisement of the House of .

Savoy destroyed the Italian Revolution.” Discuss.

ftrn # sl % fReh e ) w1 Ries i ok e aiom

%! @y FHifs |

Discuss the nature of American overseas expansion in Asia and explain
the consequences.
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HISTORY (PAPER-II)
Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS
(Please read each of the following instructions carefully before attempting questions)
There are EIGHT questions divided in two Sections and printed both in HINDI and
in ENGLISH.
Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE areto beattempted
choosing at least ONE question from each Section.
The number of marks carried by a question/part is indicated against it

Answers must be written in the medium authorized in the AdmissionCertificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the
space provided. No marks will be given for answers written in medium other than the
authorized one.

Word limit in questions, wherever specified, should be adhered to.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of
a question shall be counted even if attempted partly. Any page or portion of the page left blank
in the Question-cum-Answer Booklet must be clearly struck off.
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Tsnrg— a / Section—A

1. ftHfaftsRT WWT 150 »~ 3

Critically examine the following statements in about 150 words each :

@)

FH HKNI Wffa % ~ ~ % ~Tr[ 3IRfF~ 2
AMaMd M FIRT «ni”

“Annexation of Punjab was part of a broad north-west frontier policy set in
motion after the exit of Maharaja Ranjit Singh.”

(1773), ftz~ 1 (1784) oNT 1833 %~ "~ AHzINT
n n TRirffe A~ 3TTfe A ¥R1 TO ~TT 1T anl”

“The Regulating Act (1773), the Pitt’s India Act (1784) and eventually the
Charter Act of 1833 left the East India Company as a mere shadow of its earlier
political and economic power in India.”

“1859-60 TI™T 3{T"H % V& ¥"RT 3 3R TOR WETT |1
'~k % ifom 3 'zZwit vm — TrfdRa
jwsft % 3n"H—w r w” 3 snli”

The Indigo Revolt of 1859-60 holds a very significant place in our history of
national liberation movement. For the first time in the history of our anti-
colonial struggle, its two independent currents—spontaneous peasant
resistance and constitutional agitation in defence of the peasantry—came into
mutual contact.”

V2N TH CISI *rfsMdl 33RK%I™RR TO, "R7 3 3?2]* ? «h”

“The very idea of the bomb and the secret society, and of propaganda through
action and sacrifice were imports from the West.”

Msj % TTife n 3 im\ T$ 3RTO11 TT|fa
W5RT % fR*R TOT 3TTcim tl1”

“This retention of Rowlatt legislation in the teeth of universal opposition is
an affront to the nation. Its repeal is necessary to appease national honour.”

“wft "”TRR  Qfa srfU cj unifaefc gRcjMK, ddt Pt TOTf I
wftra ™ tri

“Swami Dayananda’s philosophy represents both elements of extremism and
social radicalism.” Substantiate.

“METcM 37T"R » sHfg' % ~  ~ fafrcT TOT ~Rs™N fRft, 3R~
N AR M TO
"To characterize the Quit India Movement as ‘Spontaneous Revolution’ would

be partial interpretation, so also would be to look up at it as the culmination
of Gandhian Satyagraha movements.” Elucidate.

vKfjimfas 2

10x5=50

20

20



©

“TOcff 1920 ~ 1930 % 3 HRcl 3 JilRhJtllefl & fejftra J3T1 1 ~ TT~Ma
~ ifrtera n tor 3 iNTTI” W#MtTcA ASM\

“A powerful left-wing group developed in India in the late 1920s and 1930s,
contributing to the radicalization of national movement.” Critically examine. 10

% NfRTTcft Tigfe % HiTcfa dn %
wr 3 wot ft w, fkxE\ rn”R]tfta tefe'd ft Tt aM te n
3TTOT™ndfi % to fttrffa ff i” -#HENI

“Under the forceful thrust of British colonialism, Indian economy was
transformed into a colonial one, the structure of which was determined by
the requirements of Britain’s fast developing industrial economy.” Examine. 20

“n3 ftef, WIfidWhfl 3 HIGfa W 3 Mifel % W
% YTIR ™ atli ™ ~Ki, 3F3
3Im ~ N BHN AN TO

“James Mill, the apostle of utilitarian philosophy, proposed a revolution of
Indian society through the Sveapon of law’ solely. But in actual policy framing,
other influences and considerations weighed much more than the colonial
State.” Elucidate. 20

% ftsrT? w™N\ /N -3 A lsrfNi ww\ A
3UCTtor m 7 «

“The Royal Indian Navy Revolt was seen as an event which marked the end of
the British rule almost as finally as Independence Day.” Explain. 10

3{op™ % ~ caT q™™M ™ TER
At

Analyze the nature of peasant movements during the nationalist phase and
bring out their shortcomings. 20

T& ftcf N ~ *d
% w N m %f% 1/Tir

“Jawaharlal Nehru, though a declared socialist, was pragmatist enough to

focus on providing building blocks to the making of a new India." Examine. 20
“*roft 1935 % w&K 3\mm % ~tr N ncfft ~  wftfl tor,
"X 3Rel 3Mvrr™Mt Tt ~ MW | n fcni” "ARTR TO

“Although the Government of India Act of 1935 replaced dyarchy with
Provincial Autonomy, the overriding powers of the Governor diluted the spirit
of autonomy.” Elucidate. 10

&jrjEmj33 3 (P.T.O.



Tsnrg—b / Section—B

5. ftnfafeid wii 3 cFm i50 ?r™i 3 ~NMcfcHlIcen ~NEfn
Critically examine the following statements in about 150 words each : 10><5=50
(@ “fs&T ™ 3 FHA N AKVhI % % fcR 3TN » *11,
n n 3 Hfc? (JAT 3 5103 n 3BRRTH ™ I”

“France was even more fertile than Britain in producing new socialist theories
and movements, though bore less concrete results in France than Britain.”
(b) “STO 3 non N OHAR N tits RN N
n JT™\ % Sflcfe w f 3T 3Im~ 217
“The multiple contradictions that quickly undermined the new edifice, had

been expressed even before the meeting of the Estates General in France.
The internal conflict among Estates had manifested itself.”

© “~rrf gdir (1830) %~ 3 TOT N LTI3N N ~hyiclfed
3R 3 gfc ~ % tcR crt afR sfti”

“The whole episode that is known as the July Revolution (1830) was fought
and won not for the establishment of an extreme democracy but to get rid of
the aristocratic and clericalist attitude of the restored Bourbons.”

(d) n n i n 3?7r -zmx "yY¥YR wm
n ~Fen n T

“Mazzini’s conception of Italiannationality was not exclusive and his
dominant ideal was the recreation of moral unity of mankind.”

(e) hi*n4) n 3 n N TiMra torc siti”

“The Continental Blockade was a misconceived idea of economically defeating
Great Britain.”

6. (a) (1878) Wm\ % <n3 ~ | #? %
dfa n non ~ Pl 31~ ~el-n
ia ~ $n”

“The Berlin Congress (1878) failed to unlock the Eastern Question. Though
there was no major war in Europe for nearly three decades after the Treaty

of Berlin, it contained the seeds of many future wars.” Critically evaluate. 20
(9)] srqfiSt A -teR
7i-3Wi % wi 3 fAirt %i ifcrra-~"Ff %"

Mfirt AT t1” Vg

“History of Africa appears to be simply an extension or mere sub-theme under
the broad headings of European and American history. According to this
historiography, Africa seems to be without any history before the European
scramble.” Elucidate. 20



© NCNTTATW L A A A FTBA
TTHIf W#AT 21/ AR

“The Truman Doctrine and the Marshall Plan were considered by the
Russian Bloc as a weapon against Russia in order to restrict her influence.”

Critically examine. 10
7. (@ ~ c™m t W * n n 2ffT
q?
How far is it correct to say that the First World War was fought essentially
for the preservation of the balance of power? 20
(b) “MIfwm % \iqer 3TPRUL % 311MT AR\ e
ft ~cn sK -HRifl im ~~ N wett sfti”

“The failure of Kuomintang against the communist onslaught was
unimaginable and it was Mao Tse-tung whose tenacity and innovative

approach had accomplished the unthinkable.” Discuss. 20

(c) “sM te arifa % “hhw”™m itm 7 Firrrte "% cri »
n W\” to
“The oppressive exploitation of the working class in the wake of Industrial
Revolution had jolted the socialconscience ofEngland.” Elucidate. 10
8. (a) rrgm (\o tgo zfto) cf rfui -#t 3m
TEm % ifalTR 3 T~ ~
3 ~ZWwW I f° #Nri

“The UNO was created in the light of experience of the ‘League of Nations’, but
in spite of the mandate contained in the UNO constitution, its effective role
in maintaining world peace has lacked cohesiveness and collective approach.”

Examine. 20
(b) 1 fH, " TjhR™ 'cHMT, 3ITisfe n N Nt <t 3R
n 3 wttcttt ~ri Mt A % 3iwefl ~rt |I3n %T

“The European Union, a diplomatic marvel, continues to grapple with
intermittent fissures arising out of economic contentious issues that pose

a challenge to an effective integration of theUnion.’Critically examine. 20
(c) “fern TIRcft 3 3it"R i<bm |3TF I, M fta %
NS, N tel % %~ WM ig\ fftl 1”7 TO ~tf~

“The role of the Non-Alignment Movement in world affairs has suffered greatly
due to the theatre of internecine conflicts among the Third World countries
who spearheaded it.” Elucidate. 10

T«

g-jtvs-njrjcm /33 5 SB6—2200



CS (MAIN) Exar2016
M-ESC-D-HT)
sfag@ / HISTORY
T9=-ux I/ Paper 11

RyfRa aag : i g2 s 5% : 251
Time Allowed : Three Hours Maximum Marks : 25

Tya-u= & feru fafdre smew
FIT TFA % I 34 @ Y& [AICTRIT A STV T SAAGED TT -
5G4 o3 T & o 8 wust 4 fauiford & aer Rl ok erast G191 3 59 & |
el i FeT i JE % IR G 8
o7 G 1 3K 6 STREr 8 aor @1 7 @ I @UE @ FH-Q-FH Uk JT AT [eg] aid Il @ I G /
T T/ % 3% Iq% T RT T E

o & IoT & g T for@ w Fian [rasT Ig@ 39S Yav-97 A %97 T 8, 3K 59 Grevy H L Ig
Yo7-7E-I (FL..T.) JIGH & §E-98 W b [Ie S R 1697 FH1 90e8 | Sighaa areqw & 3lans 3
1ot wream F for@ Y IR W B A T WAt

vt & wrew &, gl [RIARE 8, T I 1397 T Fieq |

T & IR 1 7T FHAFER F R | T} FeT TE &, 7l FeT F IR F 7T F) A T8 T8 IR S 77
& | S9T-TE-FR YT § GIel SigT §oTT 78 I I ¥ @ TE €9 & el Tl =y /

Question Paper Specific Instructions

Please read each of the following instructions carefully before aitempting questions :

There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and |
ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5 are compulsory and out of the remaining, any THREE are to be attempte
choosing at least ONE from each section.

The number of marks carried by a question [ part is indicated against it.
Answers must be written in the medium authorized in the Admission Certificate which must i

stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. I
marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a questic
shall be counted even if attempted partly. Any page or portion of the page left blank in i
Question-cum-Answer Booklet must be clearly struck off.
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@us A

SECTION A

1. FrafTRe T =1 AT 150 veat # 3w i

Answer the following in about 150 words each :

(a)

(b)

(c)

(d)

(e)

2. (a)

(b)

(e

-ESC-D-HTY

TR 4 & STy ST o <hi Shitet Waxarshian o feoquft Shifsm |

Comment on the French ambition of building a territorial empire in
India.

AT % g % YT, UG A fRE SRR Wed I A myfes 30 § gaw e 2
After the Battle of Plassey, how did India transit from the medieval to
the modern age ?

T MY 38 9 W HeHa @ o 9 4 195 3 204 wrafseat # migwmn anfees
% o A |rTiores gum SR Aiepfieh greeer™ o1 |l gwed foma 2

Do you agree with the view that the growth of vernacular literature in
the 19" and the 20" centuries paved the way for social reform and
cultural revival in India ?

“1857 w1 TeY, Taiadl & Tt & hal ATH a1 U g d &l & o |”
gt Hifw |

“The Mutiny of 1857 was much more than a Mutiny of Sepoys and much
less than a National Rebellion.” Comment.

S7TcE¥fes A ANl TaRTeHes el i sren Hifsy, few dme § @t
JAGIeH i UG fomam |

Explain “Constructive Swadeshi” characterised by atmashakti
(self-reliance), which propelled the Swadeshi Movement in Bengal.

T HEAT Hal qoh Tal B fh ARG W s Tuiy 3N ameT & 9euus
9, @ IR B = a9 2

How far is it correct to say that if Clive was the founder of the British
Empire in India, Warren Hastings was its administrative organiser ?

“grifa <ht Sfd sl <At Siar o foedt off @ @ wa wfa w9 1 W s
1 Are faferm af<s & ded # e Hifsu |

“Peace hath her victories no less renowned than war.” Examine this
statement with reference to Lord William Bentinck.

“ORd % ToTC &9 Jurell TSHifas e 6t go § el Aftes sifvar off |7
T 39 39 9o O eHd & ?

“India’s_need for a federal system was more an-imperative-than a
political choice.” Do you agree ?

2

10x5=50

10

10

10

10

10

20

20

10




Q3. (a)
(b)
(c)
Q4. (a)

(b)

(9]

194 SraTed] % SN WRA H Th Hew !l TeAT Ul st ‘fa-sfenfientor waers |
39 UeAT % TG ITRER SHRTN 1 ATe=HTcHS T0EvT IR hitag |

Critically examine the causes responsible for the phenomenon called
‘de-industrialisation’ in India during the nineteenth century.

g e El a% el ¢ fop 10ef wiaredt % anfeawdt fogig swmida U W
& e € 2

How far is it correct to say that the 19th

century tribal uprisings are a
part of subaltern nationalism ?

. .o, SR 3 WRa dI Sy gHen =1 Yol g RH geR A
frepTem 1 T TR 2

How did Dr. B.R. Ambedkar try to seek a political solution to the
problem of caste in India ?

‘oI % TIE % SWH! (1773 — 1853) % AT HUHT HHSA! o HE W TEGE
foRizT o] A hY STavEreRar 5g T8 off |7 TAsdeRtr i |

“The need to impose greater parliamentary control over the Company’s
affairs increased during the decades (1773 — 1853) after Plassey.”
Elucidate.

AR T Siee | Afgrett 3w wewet it e 2

What significant role did women play in the Indian National Movement ?

AT YA § YOy Al o WEY I THISH 1 ATAeHTcHsS T
A T |

Critically examine the nature and scope of environmental movements in
Independent India.

M-ESC-D-HTY 3
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SECTION B

Q5. Tr=ferfam ucdies 1 TRt 150 et & 3w AT

Answer the following in about 150 words each :

(a)

(b)

(c)

(d)

(e)

Q6. (a)

(b)

(c)

VI-ESC-D-HTY

“BIe TIHE H Fo 3TH VA T AT ATAHICHSD g TS ... Seifh (Y
A hae GAYRN Q@ AT, A 3 had WHE HoESl W 3Gk sl %

FATEG UTH hl WSTEA I TS o@T ... 7 30 W 3 femm Tga hifsm |

“Karl Marx applied his critical intelligence to Wealth of Nations ...
Where Smith had seen only the sunlight, Marx saw only the shadows
thrown upon the human scene by the unimpeded exercise of individual
liberty ...” Elucidate.

Hefeh JoTTell 1 R 2 AT W IS FHh THIE T HeATh HIfT |

What is Metternich system ? Assess its impact on Europe.
“UEg FY ha e GRS 1 1Y 7 |7 fewauft yega hifs |
“League of Nations is a League of Notions.” Comment.

LT < TE AT % J&T A8vn i e i |

Explain the main features of the US Federal Constitution.

Tenydt fova & fArimm A fopa rent 3w fean 2

What factors contributed to the emergence of a unipolar world ?

SHTEE iR T HROT HrEe qRif & & femg hify Swreardt oo 3K TR
=t AT 1 IROMH off | 36 HYA hT TSI R Tegd T |

Critically examine the statement that the French Revolution was not
caused by the French philosophers but by the conditions of national life
and by the mistakes of the government.

“I9 STY A ST T Wl TR @ Fehal | B fvarw ? f5 98 wweR, ot
Ta™ AR Aeft 3Tee, TRl w9 A A T8 w® wwdt |7 ItweH oA
& THeEmsy |

“A house divided against itself cannot stand. I believe this government
cannot endure permanently, half slave and half free.” Explain Abraham
Lincoln’s perspective.

o % T T # @ & fm gr P W aeet wftem w5 ool
HIT |

Trace-the significant role played by Ho Chi Minh inVietnam’s struggle
for freedom.

10x5=50

10

10

10

10

10

20

20

10




Q7. (a)
(b)
(c)

Q8. (a)
(b)
(c)

M-ESC D HTY

AT 7 TFg YR TNIGHT Thad © HERT TS o SR qiEa bl
A H "% U hi 2

How did Lenin achieve an abrupt transition from a Monarchical
autocratic to a Socialist State ?

1 39 39 e ¥ ggHa & o6 auiw afy s W snuria |fy siit enewi ™
i GfYr & <te T g0 |Eetarn o1 ?
Do you agree with the view that the Treaty of Versailles was a bad

compromise between a treaty based upon force and a treaty based on
ideas ?

3t amrseaTe it Rl snfie #1800 § 1907 7% g fg w R
TEgd HIT |

Trace the growth of British imperialism in South Africa from 1800 to
1907.

Mﬁﬁg@%mmm%ﬁmwmgﬁmmmwag
A TTHTSIATE o foeg Sfsean off ?

Trace the growth of Arab nationalism after the First World War. How
far was it a reaction to Oil imperialism ?

20dT SraTsd) & 2ifaw ewent ° GifdTa g9 A I ueHifas uiedat A g w9 #
weit JRIT i Tl Ht guTer R ?

In what way did the political changes in Soviet Umon influence the
events in KEastern Europe during the closing decades of the
20th century ?

Aue AfeT At AR Feedt g3 TRl it TR@n S¥qd IR |
Outline the circumstances leading to Détente.

20

20

10

20

20

10
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QUESTION PAPER SPECIFIC INSTRUCTIONS

(Please read each of the following instructions carefully before attempting questions)

There are EIGHT questions divided in two Sections and printed both in HINDI and
in ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be attempted
choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the
space provided. No marks will be given for answers written in a medium other than the
authorized one.

Word limit in questions, wherever specified, should be adhered to.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of
a question shall be counted even if attempted partly. Any page or portion of the page left blank
in the Question-cum-Answer Booklet must be clearly struck off.

STH-D-HST/34 1 [ P.T.O.



WUs—A / SECTION—A

1. f=fafaa weml # @ U &1 @9 150 Tl H SHTeeHTeTss qEm i

Critically examine the following statements in about 150 words each : 10x5=50

(@) ‘TR TSA & fawed i qad % howewy g unl’

“The Maratha polity disintegrated through internal stress.”

(b) TS (T AT TA) WSl 1 THE AEE MRA § AT 6 Sal & faeg 396 gud
¥ fafea wefta & 31"

“The chief value of Raja’s (Raja Rammohan Roy) labours seems to lie in his
fight against the forces of medievalism in India.”

(c) ‘@ ¥ YA o i fafew Hifa sl wasd § falRw sidegearen & forw envwe @ oty

“The British railway construction policy in India benefitted British economy in
the nineteenth century.”

(d) ‘o TE W 9Rd A ufvaw ¥ smafaa feufaat o aftoms % w9 4, goidar difehea:, =g T
ST gehat g1

“The Arya Samaj may quite logically be pronounced as the outcome of
conditions imported into India from the West.”

(e) ‘it TR T® H WHINGE GUR A= H, WA (W) uftisy 6 3fE ¥, w wum
AeEgq o1’

“Sri Narayana Guru’s was a major intervention in the social reform movement
from a subaltern perspective.”

2. (q) gt A § sl f g & e IaEnh wRe w1 we AR | e Tde weEr |
FH-Y IR Y™ AT A7

Explain the factors responsible for the recurrence of famines in the nineteenth
century. What remedial measures were adopted by the British Indian
Government? 20

(b) TG WA % I, § WEwqul WIS qE1 o Wi Sl 9Q1 A W SHERGE] 6l e
1 AT HIfIY)

Assess the role of press in arousing awareness on important social issues in
the second half of the nineteenth century. 20

(c) TSTE % HUTHEM W IR o 9 Al ffen smin ufte & yga fammi w1 ik S|

Underline the major considerations of the British imperial power that led to the
annexation of Punjab. 10

STH-O-HST/34 2




3. (a) TR ARG i I 6 FRET T HIRY qe1 TR 3§ Hifahial T 366 g7 ) fd=mn
Hifs |

Trace the origin of the Ghadar movement and discuss its impact on the
revolutionaries in India. 20

(b) a8 T8 I f fFa HR01 1942-1946 F A 9RA % WIS FGNY F THEH e
TIE SR & T |

Explain why the efforts at finding solution to India’s constitutional impasse
failed during 1942-1946.

N
o

(c) 1920-1940 % SR FFum w1efl & 1A F9% M=IeHl & @ed il fom=m Hfg

Discuss the nature of peasant movements under the Kisan Sabhas during
1920-1940. 10

4. (a) Too=m AT 6 T % TemRl A R TR IR % = 9 % SR w waw e o aun 5|
TR HHTSAETE 6 T Agwqyl @l %l IETS Hel o1

Discuss how the Satyagrahas of Gandhi removed the spell of fear among
Indians and thus knocked off an important pillar of imperialism., 20

(b) WAHA-3IT Ay # FagH @ Wenfieht & fawEi 3 w5 9% IRa B g % 9y w
R TR 27

How far the developments in science and technology in post-Independence
period put India on the path of modernity? 20

(c) v "9 &% e T Faradt % ga geia efifen To (SRR Wife wm)” @ik
‘TEd gueal (Wefed uiiie) % wWEy W g ey

Throw light on the nature of ‘Instrument of Accession’ and ‘Standstill
Agreement’ signed by the Princely States with the Indian Union. 10

@Uis—B / SECTION—B

5. frafafea wuAl & @ g% &1 @ 150 W61 H HTARATAS qham Hifve

Critically examine the following statements in about 150 words each : 10x5=50

(@) “‘HE F qeb hl GAIRWET qAT I G AT hl GAIAT, T (STEESTRE) F
wETel dhgfeare % fovg difss ufafen % w 3= fog &1 g o)’
“Kant’s redefinition of reason and his rehabilitation of conscience marked a

high point in the intellectual reaction against dominant rationalism of the
Enlightenment.”

STH-D-HST/34 3 [ P.T.O.



(b)

(c)

(d)

(e)

6. (a)
(b)
(c)
7. (o)
(b)

“me § ANREE ¥ FEe WA B omwld wed GuRt F D B are SHed s B

Rt 1 SR TSHEY % S % O s e on)’

“The spirit behind the great reforms of Napoleon’s Consulate at home was the
transference of the methods of Bonaparte the general to the task of Bonaparte
the statesman.”

‘Uz Tored W =TidR STRied i SIS IR ®9 W USHIGE Td IR T A i off)”

“The roots of the Chartist movement in Great Britain were partly political and
partly economic.”

“18 SHall, 1871 S <l arhd Ud E % e fas 1 &7 o1 9= 28 4, 1919 39 08
&1 fe e’

“18 January, 1871 had been a day of triumph for the strength and pride of
Germany and 28 June, 1919 was the day of chastisement.”

0 FaF, 1989 =l afceiH R & fawEw 3w 1w % =R ® T w1 yem e oy

“The collapse of Berlin Wall on 9 November, 1989 brought new meaning to the
idea of cooperation in Europe.”

TE FIT T §oig ATl i o1 2Tgd T8 HROT SF1 91| |1 & 396 |HTNIh TROmHT T
ft s e1feru)

Explain why England became the harbinger of Industrial Revolution. Also
throw light on its social consequences.

wom fova g 1 ey sfaem # wem wepl’ gg < wmn e g oft?
Why was the First World War termed as the first ‘total’ war in modern history?

fara=m ifste, for Sty goe & w1y me el 7 3 1848 it il #1 fohm TR Ieud
fora o)

Discuss how agrarian crisis accompanied by severe industrial depression
triggered the Revolutions of 1848.

S ThIRT & WA o1, TeHre & @iy, e fufes sl 3 gafsa fen an?

What determinant factors, along with diplomatic, shaped the process of
German Unification?

T4 FYF H & FHive T Tenifamar’ F @@ A [T FEad 1917 H w6 g 96
% aui & 3fag@ w @ wefea R o1, wifyg 3@ e % T @ fva % vl sfoem @ o
wrfera R e’

Examine the statement that “the danger of ‘Bolshevism’ dominated not only the
history of the years immediately following the Russian Revolution of 1917 but
the entire history of the world since that date”.

STH-D-HST/34 4
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(@)

(b)

(c)

e e 7 Seflar & Toe ard smiel & gnfed G So w9 § BeeEs B fha
FRU e & T

Explain why Bolivar’s efforts failed to fructify in bringing about united stand
of the Latin Americans.

3ecll § SHaA I IWTE P Td BIEAEE qHRTE i e e arel aRfEfeEdt @ gheor
i |

Examine the circumstances which led to the overthrow of democracy and the
establishment of Fascist dictatorship in Italy.

1980 % T e ANA-3Td, Wifaad €9 6t WA e 9 F Toh HEwIRs B gfiER §
TE W@e A FEmd o)’ ymmr s

“By 1980s, the Communist System of Soviet Union was incapable of
maintaining the country’s role as a Superpower.” Substantiate.

TR § 9 gEIdRE &+ W& % qhee FHifg)

Examine the nature of Dutch imperialism in Indonesia.

oo

10

20

20

10
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CS (MAIN) EXAM:2018

EGT-D-HST
gfagm®m / HISTORY
T99-9A 11/ Paper 11
et o : dfta w2 sifirray a1 @ 250
Time Allowed ; Three Hours Meaximum Marks : 250
uyA-aF weE=t v s

g TP & TWY 3 @ g FAlAT U A & S o
Fol ar wow B W gt wreet & fnfi # aur (gt il st i o et gw #

iy &1 Fer o vl & e g R )

w7 dEar 1 3§ wfad § mar ot v F 8 v ave # #u-0-w g 5 g e A v & s
WrE YRS & e aue wd B §

TP & I 36 s S § o w5 ey fGwe JgE ovd 5Rm-v3 8 far may 2, sl 5 oaneam @y e
IFT T-HE-I (wLAL) g % ge-ye W At s w fRr o anRe | sl sreny & sfafe o
&t oregy & forg e I W W arE TR B )

sEAt F wrag i, wEf B B FT spavw R o iRy |

wel & IR #T e wAFE & e | aF w985 g, & 9w & I & vy & e W aw aww Swa By
g | FET-aE -3 e § wrel oiEr g i 1 36 AN ) o9 w5 & s ae g |

Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting questions :
There are EIGHT questions divided in TWOQ SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE guestions in all,

Questions no. I and § are compulsory and out of the remaining, any THREE are to be attempied
choosing at least ONE gquestion from each section.

The number of marks carried by a question / part is indicated against it

Answers must be written in the medium authorized in the Admission Certificate which must be
stated elearly on the cover of this Question-cum-Answer (QUCA) Booklet in the space provided. No
marks will be given for answers written in o medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.

Attempis of guestions shall be counted in sequentiol order. Unless struck off, attempt of a gquestion

shall be counted even if attempted partly. Any page or portion of the page left blank in the
GQuestion-cum-Answer Booklet must be elearly struck off,

EGT-D-HST I



U A
SECTION A

Q1. Fr=fefas wmu=i & @ oees =1 wvram 150 vrs2i § ARTE AT TitA St
Critically examine the following statements in about 150 words

each

{a)

(b)

(el

(d)

()

EGT-D-HST

"
L]

“crdt 1 g (1757) 7 ¥6 9 @ uia § gfem fw sfvem e f veitas
Hetea =i IpaE =l G o (7

“The Battle of Plassey (1757) thus marked the beginning of political
supremacy of the English East India Company in India.”

“ufy % wfte g % ml @ s s % me d v T A g
it 7l A g fe = B 7

“The passing of the land from the hands of the peasant proprietors into
the hands of non-cultivating landlords brought about increasing
polarization of classes in agrarian areas.”

“105T T #, sftafAfieE gt s Remam & sEfer s 6 i
&1 gEEe H & o, wepe deensdi # agmie w1 w1 o o
Hegplt &t siafEe w0 s v o )

“Faced with the challenge of the intrusion of colonial culture and
ideology, an attempt to reinvigorate traditional institutions and to
realize the potential of traditional culture developed during the
nineteenth century.”

“Oraret Teafiar &1 v femwm oy § =nfaa 9w o m@aes & o
uiEen 2 U9 & andlas @ 51, 9 5 FEEd =@ @6 g 1, sege

weh T g |

“An ideology of paternalistic benevolence, occasionally combined with
talk of trusteeship and training towards self-government, thinly veiled
the realities of a Raj uncompromisingly white and despotic.”

= % gled A FimEe g FEEl o mefim wh goensd = owe A
e a7

“States’ reorganization did not, of course, resolve all the problems
relating to linguistic conflicts,”

10r=5=50

10

10

10

10

10

!



Q2. (a)
(b)
(c)
Q3. (a)
{(b)
(c)
Q4. (a)
(b}
{e)
EGT-D-HST

1 wemer | uen fage wiffen faid o fadw a0 swEw o
wfysafam a1 2 ==t Sifaw |

Was the Moplah Rebellion in Malabar an expression of anti-landlord and
anti-foreign discontent ? Discuss.

A % v Wi % fafiw wv # ofm ander § i waf @
e $ifan |

Analyse various trends in Dalit Movements in warious parts of
post-independent India.

1 39 IHA (1919) WA i T Wl ®) g w9 o 2
Could Dyarchy (1919) satisfy the national sentiments of the Indians ?

fava gg 1 & 10 &% o9 wiws T s=Eee § anraard Aamamet F
fafim el i w53y *1 s Hifsm |

Underline the growth of various forms of Socialist ideologies in the
Indian National Movement between World Wars I and II.

WRA #1947 3T 1960 F =9 & W & = yft gurt % feem 6 wwa
Wegd it |

Trace the development of land reforms in India between 1947 and early
1960°s,

1951 Jamd WA H uredan-ATeds fHEw % a9 ugw @ 7 fawemm
=it |

What was the significance of Orientalist-Anglicist controversy in
nineteenth century India ? Analyse.

FT 3T AEEAT AR & T & Uk e i s # 0

Do you consider the suspension of Non-Cooperation Movement a
“national calamity™ ?

1930 F91 1940 % zwehi # fawem i1 vorify d Rfim gl @ w0l &
THTETEATHS aie fifsm |

Critically examine the turns and twists in the politics of partition in
1930's and 1940's.

w1 el % Al o vt | oerfifas fuegf’ 6 @m & s awdt
2?

Can methods and policies of the moderates be referred to as ‘political
mendicancy’ ?

3

20

20

10

20

20

10
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20

10



m=E B
SECTION B

Qs. Trafafias wuai § & v %1 e 150 waSi § gurerarers giterer Fif

Critically examine the following statements in about 150 words
10c5=50

each

(a)

(b}

()

(d)

(e}

Q8. (a)

(b}

(e)

EGT-D-HST

“rret T i el & WY gETaETe aeE GaeEE & &9 | gfEfE w8

o |7

“With the writings of Karl Marx, Socialism assumed the form of
Seientific Socialism.”

“ritfean & wda 5O 3 T w1 o0 =y F amfee A ot soeafE R
ar |”

“The American War of Independence transformed Europe as well as
America,”

“shrenfirs == 3 e % we W afasfem = @ B 7
“The Industrial Revolution put mobility in the place of stability.”

39 % I§ (1870) B wAfta T, 9w I UF = w1 @ oG e
i & ure & T @™ |

At the end of the Battle of Sedan (1870), “Europe lost a mistress and
gained a master”,

“Temrar 1941 o fodta fma g =1 ggiy Hew g IR e o,
T 912 48 Yg WIS i yea-ari ot & w7

“Until December 1941, the battlefield of the Second World War was
exclusively European and Atlantic; thereafter it became also Asiatic and
Pacific.” '

EY % gd faan w v ifan | yEe | w6 S e w s R |

Explain the major ideas of Enlightenment. Discuss the contribution of
Rousseau in Enlightenment.

i Hifn & dgefl FawE F @ S § e owen @ sfenie g
o1 | WIH % qgifERE ot sEE w afom g 4 2

Discuss how Japan industrialized after the Meiji Restoration. What
were the consequences for its neighbours 7

=fiqm anfe § Tre-de & afisgel %) e Hifae
Explain the features of Apartheid in South Africa.

4

10

10

10

10

10

20

20

10



Q7. (a)
(b}
te)

Q8. (a)
(h)

(e)

EGT-D-HST

Al § 19wt § s 6 gis & el Fifa
Examine the role of Bismarck in state building in Germany. 20

Tasimfrasfimm & v suhiem & fawm & s w6 FEen i

Discuss the factors constraining development of Africa after

decolonization, 20
e A F sgaR ) ofifEafa & se v fifao
Outline the circumstances leading to adoption of Marshall Plan. 10

1949 1 =t == o arEERE 3 TR F T WE-AEr YR A A
4 | 30 HeE Hi, meN F wEtly F SFE f o | fimde s |,
w2 shifan |

In the Chinese Revolution of 1949, the elements of communizm and

nationalism were dizcernible. Explain the statement in the light of
Mao's strategy which was different from that of Lenin. 20

s ifi 5 o 1946 3 1991 % Haew T Y A €2 @ AT fET
1 7 w3 avA T 2 |

Ihscuss how far the United Nations has been successful in resolving

global disputes from year 1946 to 1991, 20
TieteE g AT e e i Aif e Eif
Review the policy of Glasnost adopted by Gorbachev. 10



CS (Main) Exam2019 SDF-B-HST
gfaga / HISTORY
T94-u= 11/ Paper 11
Ryffa aag ; &7 92 Sferpa 3% : 250
Time Allowed : Three Hours Maximum Marks : 250
Ty- wraeet fae srgem

T T & T 2§ q FrefaT T s e 0
559 18 77 & it 31 @t 7 fawrfaa & aur fewt ik st @ 4 99 5T E

whamrefi #1 e grer Fl & I A 8 /

g7 g7 1 35 sfFard § aor il gl 7 8 9% @V & FH-8-FH U Y9 G 1581 @7 597 & I3
i 5/ % 57 % a Ry § |

wﬁ%maﬁmﬁwm#%ﬁm&aﬁqﬁw&va@émm—wﬁﬁmwa 3 3 AT H T
3BT Fv7-TE-I (7. H.0.) JeiaT & J@-§58 W [l w7 W f&a1 S =iy | s qregm & Sifakd 64
fad AT 7 for@ T I W FIF 3F T8 5T |

vl 7 weg i, el AR 8, HT g [F91 T =0T /

¥ol & I B T FHFGR F1 T | T FeT T8 &, @ 37 F IR H T H G 9T I8 I 9 159 74
&l | JvT-8E-I Yl § el SigT AT §53 1 IqF A H T I & Fel FA] e |

Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting questions :

There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.
Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5 are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each section.

The number of marks carried by a question [ part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer Booklet must be clearly struck off.

SDF-B-HST 1



@UE A
SECTION A

Ql. fF=fefiga wai & @ s &1 @WT 150 Yeal W HHTEATSATHS GO
it /frefefaa @ sw difsu

Critically examine the following statements / Answer the following in
about 150 words each : 10x5=50

(a)

(b)

(c)

(d)

(e)

Q2. (a)

SDF-B-HST

“Bq gear A H, AEeTHiE qETiE Sd aren, U wiee Fa
=ftpd =T o Tamfor 1 e T o 1”7

“Tipu Sultan was trying to build in Mysore a strong centralised and
militarised state, with ambitious territorial designs.” 10

“Cadarar ITd B 9 W E, |9 e fawe v gen vd et swEE W
Hifd =ft, 1@ 7 aRdiE rdeuTEar % FUFU § GBS B oA shi 319

AT R 1Y hEAT ARy fomam |7

“Not until independence, when economic development became a
conscious and pursued policy, did the Railways begin to realize their
potential for assisting in the transformation of the Indian economy.” 10

%ﬁmmmﬁmqﬁ%ﬁgww@aﬁﬁmwmﬁﬁqﬂa@
sifgs wafear off |7

“T'wo important intellectual criteria which informed the reform
movements were rationalism and religious universalism.” 10

“...®a fagie geua: SeETTgR & S et w1 s sifanfat
Ud Hand-afwat & foeg gg o 1”7

“... the Kol Insurrection was mainly a war of the tribal inhabitants of
Chotanagpur against the non-tribal settlers and service-holders.” 10

“fopew favm freat gEfiedl & o @1, qen stad: fawat & e 1

“The Cripps Mission was plagued throughout, and ultimately
torpedoed.” 10

Huaes g 8l e IfasETg 6l Tgard JaTar=HT H1 hg-fomg ot ?
How far was the drain theory a focal point of nationalist critique of
colonialism ? 20

2




(b)
(c)
Q3. (a)
(b)
(c)
Q4. (a)

(b)

(c)

SDF-B-HST

wRa H ufeeft e @i @n] w99 % oy wfeat e adem
Fifsw | 3a18 =l g 3w fou e U qEra @ favevor Hifse |

Examine the forces at work for the introduction of western education in
India. Analyse the thrust given to it by the Christian Missionaries.

FT Y 39 Td H TEHA 7 foh HAlch H ATA-BIEET Tud A gferor wra &
TI=IT &=t <t A=afies raqfd ot yeidia foa 2
Do you subscribe to the view that the Anglo-French tussle in Carnatic

demonstrated the internal decay of the provincial chieftains of South
India ?

S # Tt ITRieH il yq@ ygfEi i 39 fhe YR S Hwi ?

How would you explain the major trends of the Swadeshi Movement in
Bengal ?

T Ig el AEEd 8 76 1935 % e % 3fean vae ° wft dew 9,
T I3 §oH A&l A1 ?

Is it justified to say that the Government of India Act of 1935 had all
brakes, but no engine ?

fayen qafdarg e wrdla et & gfa amfas TR 3cad A § &al
qh IR @1 2

How far was the widow remarriage movement effective in arousing
social concern for Indian women ?

I BIS! ATCIeA &l U Ta:TFd i~ o €9 H F91 FiET=ha fRaT T ?
FI1 38 WRATT Taaaar sl fshan i g JgH i 2

Why is the Quit India Movement characterised as a ‘Spontaneous
Revolution’ ? Did it accelerate the process of Indian independence ?

RA s Tadl & foIe Jod § GuTY =5 S8 hl YfihT 1 Jodiehd it |
Assess the role of Subhas Chandra Bose in India’s struggle for
independence.

e fam Frisd @ TeEd 09 & gy R 9 @ anfior ara %
HeAT Hi TedTE Hd fier 2 2

How did the introduction of Community Development Programme and
Panchayati Raj promote welfare of rural India ?

20

10

20

20

10

20

20

10



wus B
SECTION B

Q5. FrafeRaa wuat & & U &1 eI 150 Ieai W AHTE TR ieqor it :

Critically examine the following statements in about 150 words
10x5=50

each

(a)

(b)

(c)

(d)

(e)

Q6. (a)

(b)

SDF-B-HST

“Ooh sl % d oTw  ge-ffvadar, wmmfr fedwiiar, weesfa
ATeRaTg va a qats #1 fawer fagor o |7

“The arguments of the free traders were a curious mixture of economic
hard-headedness, social benevolence, cosmopolitan idealism and class
prejudice.”

“1914 - 18 %1 gg &3¢ T | 31AYd o1 vd A4 sfogE §, quiaen &4 |7

“There are many ways in which the war of 1914 - 18 was
unprecedented, and in human history, entirely novel.”

“Si 2ATe I <t =9 9T ST SIEREY Sl 9= A1 O uW # Fswanfer,
&I YGH A dTell Tk ToiHl o &9 § 3Heh! Jfesar i yoH TR 3frem
a1 |”

“The ineffectiveness of the League of Nations to prevent or to check
Japanese aggression against China was the first serious blow to its
prestige as an agency for providing security.”

“refrderdl, WRA qU1 W q9 WA U o IUHAvETE R wmSTaR 8
Y TFAAT 99U WA F HIRE A 6 THY & Jdieh & &9 4 7 08 |7

“Non-alignment came to symbolize the struggle of India and other newly
independent nations to retain and strengthen their independence from
colonialism and imperialism.”

& -HTFEaTE] FHTSETG hl Tohid 1 M9 HH AR H ?

How would you explain the nature of pre-Marxian Socialism ?

9§ qeehr 1 Aifi T fremfetor i gfskn i fra ger garer fomm 2

How did the policies of governments facilitate the process of
industrialisation in Europe ?

geelt T Wimfas fieafd 4 s teusa & w9 4 9 ufafda feen
™ ?

How was Italy transformed from ‘a geographical expression’ to a
nation-state ?

10

10

10

10

10

20

20



(e)

Q7. (a)
(b)
(c)
Q8. (a)
(b)

(c)

SDF-B-HST

S ol SASHEEY FI EAA TEAH 1 AU 1 A gheshivr g by
gl qoh WG Fasi § Itz #§ ufiord garm 2

How far did the Napoleonic preferential stance to help out the French
economy result in embroiling France in continental conflicts ?

194 wraredt ® womn 4 fafew shufafes sw@dw % v s feg sl S5t
Ierlt sgudn ? fafew shufafye wmam & ufy gert ¥ S giafesn 6 0

Which factors would you attribute to the British colonial intervention in
Malaya in the 19th century ? How did Malays react to British colonial
rule ?

e Hifvy e dAfer sl w0 qft 19 wasdt ¥ s @ A
fereniferer Trsifoes srfeeran wa @t & @at & fory T |

Explain why Latin America was beset with chronic political instability
and endemic military conflicts throughout most of the 19th century.

1 AN 38 WA § WA @ b 181 (NATO) % e 4 Afverss qoensii & wiy
Al gfteshivn | eh shif=d i 3ifehd fepa 2

Do you agree with the view that the formation of NATO marked a
revolution in American attitude to the world problems ?

I AT W AG W HeWd & o I T g IS ud s weied %
vl H T T8 ? 3 O S (RS AT ) H fRE TR g
fopam 2

Do you subscribe to the view that the Greek War of Independence was
mired in contrasts of the best and the worst episodes ? How did it affect
the Concert of Europe ?

1 g § feeer # SRcartha uh el § 9 fR T 2 s e
fafgad o 2

Was Czechoslovakia served on a dish to Hitler at Munich ? What were
its implications ? i

fgdta forva g & uvarq ona st @M | fire 1 yftrent w1 v fifsu |

Analyse the role of Egypt after the Second World War in bringing about
Arab unity.

10

20

20

10
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CS (Main) Exam, 2020

| URC-B-HST |
gfag@ / HISTORY
T9+-u=t I1 / Paper II
RefRa aae : diT e Sferman & 250
Time Allowed : Three Hours Maximum Marks : 250
IO Wl faow oW
FaAT T9AT & IAT 37 @ GF REAferierT I JFevT &1 AT E g :
377 om3 5v7 & o 3t wvet § Rvifsa & aur @<t sk sriet Gl H 99 5 E /
weTeT i FoT gia g9 F I T 8
o7 G5 1 3k 5 Rard & aor @1#1 5o F @ 9% Ge & FH-8-FH Uk Jv7 GIH 15781 17 51 & IR G /
T F F9/97T & b Iq& 7 R T & |

Yo & I I ifga A § for@ 7 FiRy [5aHT 39 A9 Fav-7 # [ T 8, 3K Fh AT F L
IPET TeT-T5-I (R H.T) JEHT & J@-98 W [l T T 47 FIT F0eT | Fgd AT & ks d=
5t arem & for@ e IR | FIE 37 T8 A

ywl ¥ vieg &, @l Al 8, FT S[gervr A AT Fiey |

o & IR T FAFEAR F T | TR FIET T8 &, @ FeT F IR # AT F) ST e qg TR/ 379 AT T
8 | FT-TE-IR GiawT 4 GIcll BIGT BT 53 I I3 379 Fi T & & H1el AT MY |

Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting questions :
There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5 are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each section.

The number of marks carried by a question [ part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer Booklet must be clearly struck off.

URC-B-HST 1




WU A
SECTION A

Ql. Tr=feiRea werl & @ weres =1 e 150 vregl § EETETEATRSE TeTor AR

Critically examine the following statementsin about 150 words

each :

(a)

(b)

()

(d)

(e)

URC-B-HST

“rerre sl T it g o 1839 # g oft | R U R v ¥ R
FUSTRAT o faThie &1 Goha o1 |7

“Maharaja Ranjit Singh died in 1839. His death was the signal for an
outburst of anarchy all over the Punjab.”

“o gRfE SN § S@ AR Ugene sTafue ot qun sfl-andt sigia A
& o, 6 T AfefR st 3gR anfife-gur s<ieHt @ ww 6 |7

“In the initial stages, when Indian nationalism was immature, just

sprouting, it found expression in many liberal religio-reform
Yy

movements.”

“20e1 wTeft % ye & ST Tt wre afer § ome ol v & f g
Tishaat & H1 foram a9 s et wewe & Rt & uoefifae qen
FI Tl W Hfga fomar 1

“In the early twentieth century, there came into existence a number of
women’s organisations, which operated more actively in the public arena
and focused more directly on women’s political and legal rights.”

“URd # ¢ I TG 3 HEEYEl USTEl W T Fae TP TEE % AEH H
Tree foRa ot 3 Al & sHes faww o w@ww ) oft wfya fen \?

“The Trade Union Movement in India not only supported the call for
national struggle at critical junctures, but also impacted its course and
character in several ways.”

“arefiE JareTt | IR SraiaT qU 3R HA % YR W e HisvedeT Wy
30 frehd o uge 5 favrem & wohm =gt qen @i weam o (7
“Based on his discussion with Indian leaders, as well as his own

perception, Lord Mountbatten soon came to the conclusion that partition
was the only practicable and feasible solution.”

10x5=50

10

10

10

10

10




Q2. (a)
(b)
(c)
Q3. (a)

(b)

(c)

URC-B-HST

g1 7 el SR Wl Tenedt & aneeh R # sl w1 On v w1
foega U= &t ' aEifos Remm s fen — 58 aes # wie § s
TR 3o Freft 3 figorr & w3 fR 1”7 gRear smen S |

“It was Dupleix who had first showed the way of intervening in disputes
of the Indian rulers and thereby acquiring political control over vast
territories — a technique which was later perfected by the English East
India Company.” Elaborate.

1857 % fI5is # Th o GHT % 9 I AT F AT Rt @ e
A W1 AT @ | 3G BRI &l @IS hael U1 & 7G0T & &9 0 & 7
wTh o 30 g |rifores 3t onfes qiteds Y welt Wik § 9
=1fee Forae e qugrEl w wem e | @ Hif

For long, the Revolt of 1857, has been mistaken to be a mere mutiny of
the Indian sepoys in the Bengal army. However, its causes need to be
searched for not only in the dissatisfaction of the army, but in a long
drawn process of fundamental social and economic change that upset the
peasant communities. Discuss.

T A9k HATAR WRA § 1857 ¥ qd 3T 1855 — 56 1 woret & (ighe)
TEY TSR ST Ao o ?

Do you feel that the Santhal Hool (rebellion) 1855 — 56, was the most
effective tribal movement in pre-1857 India ?

Y ARF A § ToHifod Fasr I g 3y why she w9 of
Th AW IRAGEE §TA 7@ @1, W9 € GeAenl 3 Sig Y e §
w3 7 H ff wive fe on | = A 929 3@ 9@ A g w0 § S
! TATYAT Th GRE area’ & &9 ° i S off 2 wm i |

In its political behaviour the Indian National Congress in its early
career was never a radical organisation, besides the founders of the
Congress involved A.O. Hume in their project. Do these facts verify that
the Congress was founded as a ‘Safety valve’ ? Explain.

T AT 34 727 | GeHd & (6 T e h Wy FAHHSAdT a1 TPAE!
Rges W SR ISR A it wfafaften % fog aitfeafes 1 fmfor e 2
foasm hifw |

Do you agree with the fact that the virtual failure of the
Non-Cooperation Movement and the gloom that descended on the
nationalist scene, created conditions for revolutionary activities ?
Discuss.

oM 1 39 WRETE SR F w9 § 3@ = fes 3uim @ aefiw s
1 GHTE foRaT ST gehar o1 | gheer Hifv |

Planning was seen as a powerful instrument that could be used to
remove regional inequality. Examine.

3
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20

10

20
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Q4. (a “andm uefy % el aur farereg & § widsh oA forg T weaert
Ry #1 g W gH /it I fhd B orem T e afer giegds
TOURRT % @ B THYRET % i 4 sig fen 17 fadee fifd

“In the divided and contestable space of Indian politics, Gandhiji could
claim for himself a centrist position because he alienated neither and
tactically combined the goal of the moderates with the means of the
extremists.” Discuss. 20

(b)  “ItT AT % UTEIq WRA-SH WY 9gd TESE % W Y g, /g
3 AT FET A WRG ) I ATHHHAT & Hed WG HT AT HET TG 1

wferar =ren HifT |
“After Indian Independence India-China relations started on a high
note, but during the course of the coming years India had to face a bitter e
experience due to the Chinese aggression.” Elaborate. 20
(c) “UTeTE YR W TS T YAie TP g@iohol Tl Tehiehlul 1 THE@ 98
o1 |” feoaeft hifre |
“The Reorganisation of the States on the basis of language was a major
aspect of national consolidation and integration.” Comment. 10

URC-B-HST 4




wE B
SECTION B

Q5. FrefeiRaa wadl § | T &1 TRTHIT 150 YIsel § THTA eHTeH gderon HifR :

Critically examine the following statements in about 150 words

each :

(a)

(b)

(c)

(d)

(e)

URC-B-HST

“Tee ¥ g $O TR ¥ i wif B @S aun gl o faem
§|”

“The principles of Enlightenment were in some ways a continuation of
the discoveries and theories of the Scientific Revolution.”

“G 1789 I HiE h Hif H HRON B Jeiemiferss qUl STETT HRON *
WYY qehTe TeATd off sfera off |7

“The causes of the French Revolution of 1789 included both long term
and structural factors, as well as more immediate events.”

“sréraeft AR HIEEH], TEGH a1 Wl aeet 9 % 3G % WY Nefh
i~ & OIHT TR o Terifash TR ge |~

“Industrial Revolution had far reaching social and political consequences
with the advent of assembly line factories, urbanization and rise of the
urban working class.”

“Ju T B 9 b wiged H T fwd’ F w9 H I W0 A A @ yem
fava & el dima 9, ot 1 & R fovs % wrETdl ou A wrefE
al”

“The multitude of newly independent countries came to be known as the
“Third World’, belonging neither to the First World of capitalist
democracies, nor the Communist Second World.”

“U¢ 1948 H, ! 7 Frefied= @ g Y& w0 o1, MR 34 7 & fow =t
qell 3 A <hi oft | IRel qen et % Hea St fwn ok wew S 17

“The British were slated to withdraw from Palestine in May 1948, and
both sides prepared for that day. Violence between Arabs and Jews,
already endemic, escalated.”

10x5=50
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Q7.

URC-

(a) .

(b)

(c)

(a)

(b)

(c)

-HST

“Yfer T T FfReET @ o1 Teg 3EY 1789 ¥ 1791 % Wed gT I
ifehrl IREdl ® ggedt YgH H a1 I WA Feud Rl % e
foem qeon et 1w fran 17 fag Aifv

“Napoleon was not a revolutionary but he solidified many of the
revolutionary changes of 1789 — 1791 and he himself supported most of
the ideas and proposals of Enlightenment philosophers.” Substantiate.

“Trept h geu Aftumon ot 6 qrEwen & g2 % e T Bl w9 # faofy
T BN AT 38 FHSNG1 g ATk T % Al A€ S Fehal |7 1w T8
g W forer 1 sffem & ded A feugft seqga i |

“Lincoln’s main thesis was that the Slavery issue had to be decided one

way or the other and could no longer be evaded by compromise.”
Comment in the light of his role in the American Civil War.

“@_ 1848 st HIf<ET 7 O TonSA 1 wEdfia W e e 3 @ P 9
T2 BISAT Y81 | Sl §9 W@ I IQRAR, LTS a1 GHISETE AHa quf
I o |7 feoquft S |

“The 1848 revolutions frightened the crowned heads of Europe and

caused several to abdicate. Those who remained were cognizant of the
threats posed by liberalism, nationalism and socialism.” Comment.

“forcteh W1 wF quT AR’ HT Wiwor e I F TR § 38 gr fRu e
wiftremeft T 3 foremh @i o SiEeR (Iron Chancellor) % &9 # fyeamd
X T 1 wmTeteATens qhiger Hifda |

“From Bismarck’s ‘Blood and Iron’ speech and his forceful actions to

achieve German unification, Bismarck came to be known as the Iron
Chancellor.” Critically examine.

1 I T S A WEAd 3 T Ty foma gg sfem &1 qod faeaas 3¢
o1 ? Afaer samen Hfa |

Do you agree with the statement that the Second World War was
history’s most destructive war ? Elaborate.

31 aitferfadt i fodem Hifsie SAF $ro o 1962 § wiw =t sreshifan
BISAT UST AT |

Discuss the circumstances leading to the French exit from Algeria in
1962.

20

20

10

20

20

10




Q8. (a)

(b)

(c)

URC-B-HST

wiftd 7 fpa ger afm 6 fauma sicifas wifa S @ Sem™m a=
FEEAETE % AT qwl H SgH WeId WY (J,UH.TH.IR.) H Th HERIRE
a1 feam 2

How did Stalin build on Lenin’s legacy of Bolshevik Revolution and
introduce new elements of totalitarianism to transform USSR as a
superpower ?

fid g b wAIH & v fova ToEifa #§ w Aw wife Al o 3ed ge |
foweo e fop fore ToPR 9@ U590 Wl (J.09.U.) THATH TEIe 4
T |

A new configuration of power emerged in world politics after the end of
the cold war. Analyse how USA managed to become the sole superpower.

ArereATeRs qhger hifsie f6 = a8 wew Sfua g 6 e wad 9
JOfen X fefear & SR okt Tg-fmior % %R &% fore welt-wifa dam &
q |

Critically examine whether it was true that after a century of
dependency on Europeans, Africans were ill prepared for the task of
nation-building.
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Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting questions :
There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5 are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each section.

The number of marks carried by a question [ part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer (QCA) Booklet must be clearly struck off.
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SECTION A

Q1. ﬁnﬁr@aaﬁaﬁﬁﬁmaﬂwwowﬁmuﬁwaﬁﬁq:

Critically examine the following statements in about 150 words

each

(a)

(b)

(c)

(d)

(e)

HXS-B-HST

aTesTe et & o &N & W § srifed afed gg |

The introduction of Western education transformed India in unforeseen
ways.

186ﬁaaﬁmwﬁamﬁamm%éw%mmw,aﬁmﬁﬁm
WWﬁWWW@mmﬁwwaﬁmﬁ
EIY S F &Y GodH Bl S7T H T el |

Tipu Sultan had little success in setting forth a course of change
significantly different from the general experience of 18th century crisis
of Indian politics and society where public life tended over and over to
become a system of plundering.

<oft g srfufem (arfeer 39 ), 1878 %1 JFt I8 W SEa fFrw & forw
mwwﬁ@maﬁtaﬁaﬁmaﬁﬁﬁn@ﬁé@qaﬁaﬁa@
a0 | 996 59 T |

The Vernacular Press Act of 1878 was designed for better control of the
vernacular press and to empower the government with more effective
means of punishing and repressing seditious writings.

1920%3%13%1?@&123@?1?%3@3@@@?3@3?@@
SUATEH AT Shifaehi) Hmeh wem Y |

The rise of the Communist Movement in India in the 1920s lent a
militant and revolutionary content to the Trade Union Movement.

20ﬁaﬁ%9@mﬁ,%m%uﬁﬁmwﬁ@?ﬁmﬁﬂﬁ%§
ShIfchI TET % Ie9 % T 39eh arefrarer o |
In the first decade of the 20th century, the atmosphere was ripe for the

emergence of revolutionary groups to fill up the vacant space in the
political map of the country.

10x5=50
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Q2. (a)

(b)

(c)
Q3. (a)

(b)

(c)
HXS-B-HST

3% YaTeedl ¥ &Y ¥ d U9 @Y ¥ A gL YA qA FUS & & § ¥ fowd
F omoft o | e UTATE dd WiHATE! 3ATelieehi 1 OHAT B fh SRS
T 3 THEE L WRd & grgie o fava-ufig swaRed @ wsig
fopan | feoquft e |

India had been the world leader in the field of hand spun and hand
woven yarn and cloth for many centuries. Many nationalist and Marxist
critiques considered that the British dominion deliberately shattered the
traditional and world famous handicrafts of India. Comment.

sffrafies wee % dF ura # Tgare 7 R faftm afiel @ o e &l
Yehe feram 2

What were the various ways in which nationalism manifested itself in
India during colonial rule ?

$re e ol & A ot o i wifem % w0 H 3 U onedl shayadt e
T R | glts W HIEH o fl el W @u A& I | HEIAHTHS
fea=m Sifv |

The East India Company had thought that they had found an ideal
puppet in Mir Kasim. Mir Kasim, however, belied the expectation of the
company. Examine critically.

fafew wra § S <l ST g 3 wiRd o fohd R wwifea femar 2
How did English utilitarian thinking impact India in the British era ?

= mitefsh § 0= § e % g8 W emean TaeH aE o forn o, 3
I WA Il G $ G AR gra i T8 femn hl Hed T T H FhR B
feam o | = sueR oran @ o it sifden % wmaett g % fovama i
@ @ 9 q91 359 99 ¥ I7eT B4 hl T ) ¥ 2 fawg swen hif |

The same Gandhiji who withdrew the Non-Cooperation Movement on
the issue of violence at Chauri-Chaura, refused to condemn people’s
violence during the Quit India Movement. Do you think that he was

losing his faith in the efficacy of non-violence and was willing to deviate
from this path ? Elucidate.

FAh S SAfhTd €9 § I Td g@igl ¥, W I P w@ad & o
HTevTsh ATETeh WraT 1 St oft | qept afed fae=mn iy |

While individually the Marathas were clever and brave, they lacked the
corporate spirit so essential for national independence. Discuss with
reasons.
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Q4. (a) WG H 1858 % 913 U WY@ TAUMH GuRI qen FATS w§ oA W I
g91g &I faa=m hifs |

Discuss the major constitutional developments in India after 1858 and
their impact on society and polity. 20

(b) el T b wRA § aferd e (assertion) 1 Seerdt & YR Hi ==
HIT |
Discuss the changing nature of Dalit assertion in India in the twentieth
century. 20

(c) Tawrsm < yvarq ft famedt 1 fre wor aredte w9 & wfter fpm wm o 2
3AH TGN 9 4 1 fieht g 2

How were the Princely States integrated in the Indian Union after the
partition ? What role did Sardar Patel play in it ? 10

HXS-B-HST 4



@vs B
SECTION B

Q5. TmafeiRaa weml & & T T TR 150 vrecl H AT RATHR gireror Hifu .

Critically examine the following statements in about 150 words

each :

(a)

(b)

(c)

(d)

(e)

HXS-B-HST

39 91d % &3 B0 I Fehl a9z @ fenfies wifd v 3 7 g |

There were many reasons why the industrial revolution first happened
in England.

iR &l ARG SIaET i gaH 9g1 Yol HET S Tehdl & adT 3W “Terd
fefra ot & e’ & w9 ° aftfa foam s wehar 2 |

Napoleon’s continental system may be reckoned as the greatest blunder
and may be described as a “monument of misdirected energy”.

IfeEe SATEIeH 39 SNfYd LT I Ied A A @GS @1, Ty 39 fa=m i
S & § T @1 6 fafife o 8 ot amifet o fier foean
ST =T |

The Chartist Movement failed to achieve its stated objectives, but

succeeded in seeding the idea that a representative democracy should
include all citizens.

fid Ig % <H, - e % $® TeEqul 341 39 MG H A= T
H g 1@ 91Ed ¥ |

During the Cold War, some important leaders of the Non-Aligned
Movement wanted to keep the movement away from the military blocs.

I 2 7 TG H VF AdT & &9 § @1 I 39 <o & GHA @Sl & Hehdl
o1 St gfyert 2w, e X sose & a wifd sAE & U s ® 9 )

The Arab countries looked up to Nasser as a leader who could
withstand the pressure exerted by Western countries on Egypt to make
peace with Israel.

10x5=50
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Q6. (a)

(b)

(c)

Q7. (a)

(b)

(c)

HXS-B-HST

TEGa1 % T a1 T F=1 “Tgg” o1 ?
What was “enlightened” about the Age of Enlightenment ?
1840 % 31 | 0T § T8 shifdehil oTeX o HRO1 Ud Giomy &1 & 2

What were the causes and consequences of the revolutionary upsurge of
the 1840s in Europe ?

gfeor bt il vad-3TeuHd hl HR, THe hi Aifd w1 srfeies A
TR &1 o o HaTraal i ek SMURYA ATHi & dfad L 39 a19 g
R Hdl off | 98l & o Tiie F Aifd H qHed U dshHureRTeE e
ST T H Y %A §T ?

The white-minority government of South Africa treated the natives very

badly by denying them fundamental rights and made Apartheid as
official policy. How were the people able to end Apartheid policy and
establish a transitional rule ?

fafira Tgi 4 Tgamg & 357 3 A JEanst # fowfea = e st syl
9 < HHTSAT I Th a1y areft g3 off | fog=mn Ao |

The rise of nationalism across nations shattered the chains which held
together the empires of modern Europe. Discuss.

I T8 Ig # I H fawa & M RO gU | T T $S oI a1 Wy
9 | greAtteh, SN  fashm W 30H I TG HHGd: SIS Hewqul o |
feoaoft <hifsr |

In the American civil war, the victory of the North had many
consequences. Some of them were direct and obvious. However, its
indirect effects on American development were perhaps even more
important. Comment.

Il =R 98 FH (1917) A & a1 =1 (1949) Y, TH 271 # qiedT aH
QAT T 7 | feoquft fifse |

Revolutions, whether in Russia (1917) or in China (1949), are a
disastrous way of transforming a country. Comment.
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Q8. (a)

(b)

(c)

HXS-B-HST

dfiwell @t & qaig #, & T Ig form & @iy, U @ER FE ™ @
gt o1 | fewunft Hifsre |

Europe was at war with itself in the first half of the twentieth century
with a long cease-fire. Comment.

Sfid gg 1 GHICT qA el HRIITH & €9 A SMWAEHT & I2F & IHE, 37D
q R, I @ | gHten Hifv |

The impact of the end of the Cold War and the emergence of the US as
the lone superpower has been both, good and bad. Discuss.

T 39 G & fob AP foamel & fFuer qon foava & s <m0 w@a &
Hgh g 9 A wEwql st i @ 2
Do you think that the United Nations Organisation has played a

significant role in resolving international disputes and ensuring peace in
the world ?
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HISTORY (Paper 1I)

fraffa aaa : i qoe 3ferepaq 3ie : 250
Time Allowed : Three Hours - Maximum Marks : 250

WIA-UF wEaeEt A srgew

FIAT VAT & I oA ¥ g Frmfafas v aqen = samgde ¥ |

F6H TE W € S wvst & fawnfor € qan R ok sl AT Sy gu ¥

RIETAT Al Fol T THT 6 IR o © |

W HEAT 1 3R 5 At € a9 arht et § ¥ g @0e § FH-¥-9 U U IR el
A IE F TR |

TAF U /W & 3k Ia% awe e w § |

W &% I I Wi wem # o S wfee e swr smo wRv-um 3 R g,
AR T AW F WE IAE WH-He-IR (FH.C) Y F qays w® fifde wm w
ST =Tfey | Wit wreaw & srfafies s et wmem 3 R T SR W 9 s et R |
weAl # weg-w, et fafafdse @, @1 s fean s e |

T & IR H TAT FAER T G | 3fe Frer 7€ |, A u F IR I W0E $ s

e 9% IR Si: T @ € | we-we-Iw (F ) g § @t St gan s an e
Y T WL T ¥ HT AT A6 |

QUESTION PAPER SPECIFIC INSTRUCTIONS

Please read each of the following instructions carefully before attempting questions.

There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and
in ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the
space provided. No marks will be given for answers written in a medium other than the
authorized one.

Word limit in questions, wherever specified, should be adhered to.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt
of a question shall be counted even if attempted partly. Any page or portion of the page
left blank in the Question-cum-Answer (QCA) Booklet must be clearly struck off.

1 CRNA-S-HST



1.(a)

1.(b)

1{c)

1.(d)

1.(e)

2.(a)

2.(b)

2.(c)

3.(a)

qus ‘A’ SECTION ‘A’
feraforfaa SoT & @ TS & AT 150 Y81 F FHTAEATCHS UL T

Critically examine the following statements in about 150 words each : 10x5=50
‘et B d2rE (1757) T WL Al Selfh S 6l e (1764) T el gg an |
‘The Battle of Plassey (1757) was a skirmish while the Battle of Buxar (1764) was a
real war’. ' 10
‘Irgaax & | (1809) 3T ATchHIferh qUT AIfad UHIET & FRU Hew@qu ot |
‘The Treaty of Amritsar (1809) was significant for its immediate as well as potential
effects’. 10
‘3T FAS TS hY T Bl el Sfceh aafafe e Hifaat & weae aRomy A |
‘Famines were not just because of foodgrain scarcity, but were a direct result of
colonial economic policies’. 10 -
‘el Tt i gl — fore guT g Fed ¥ — | §UTEl & Hd FER S W e S6ig
= fear aur 3= AU QT 8 WIE R & ford FRiaTE 9 W weeR &R e |
‘Penetration of outsiders — called dikus by the Santhals — completely destroyed their
familiar world, and forced them into action to take possession of their lost territory’.
10
‘Hifd SRR & Ak WRAE defet ¥, siufafires wRa # qe afe sgEuE
S @ |
‘Within a limited scope the Indian Scientists could pursue original scientific research
in colonial India’. 10
T R 5 fore weR sl sciee A avie 8§ us guta frae wre fen qan 55
1 qRom o ?
Explain how the Permanent Settlement initiated a rule of property in Bengal and what
were its consequences ? ; 20
o afeselt firerr wiechfaes SR <Y sprgm ot o siiafeafSre W &1 Ueh Suew A1 ?
T i |
Was the Western education a harbinger of cultural awakening or an instrument of
colonial hegemony ? Discuss. 20

T AG W I T © foh T, Qa1 TH A & oG, T (AT T Hl TWHR
‘T AR AEE H e FE FAT @7

Can you explain how, after acquiring Diwani, the government of the East India
Company functioned like ‘an Indian ruler’ ? 10
T AT THAS § T WA T I Tw Sgatia e o o avlt
T &R % - feqt @ wfafifie ar 2 s SR & WA W wrw
IR |

Do you think that the Indian National Movement was a ‘multi class movement’ which
represented the anti-imperialist interests of all classes and strata ? Give reasons in
support of your answer. 20

CRNA-S-HST 2



3.(b)

3.(0)

4.(a)

4.(b)

4.(c)

5.(a)

5.(b)

5.(c)

5.(d)

S.(¢)

HARAT FATS R 3T 8 & 36 wama aet | 9 hifse & @9 1857 % fogie &
ARt A for et & s fear ¢

The British rule had differential impact on the Indian Society. Describe in what ways,
the Indians responded to the Revolt of 1857. 20

faverwor ifse fo sfcefal @ @t &) f5g ver sror-fasemm femn 9o arda
AT GUTH & G ATUR &l a9 TR |

Analyse how the revolutionaries taught people self confidence and widened the
social base of the freedom movement. 10

FRFE Tsganfeat (aefyar) & At qar wedwa @ e fife | 3 e
T T AR <l SRS Al 9fd ol § 95| J ?

Discuss the policies and programmes of the early nationalists (moderates). To what
extent they were able to fulfil the aspirations of the people ? 20

AHTed ozd R foarg & wear #, 1950 941 1960 & v H HRA-HH dwawdl &
fagewo $ifsa |

In the light of contentions over the McMahon Line, analyse the India-China relations
in the 1950s and 1960s. 20

SR st wRa § AHbE sriedt ¥ wafaReiia dae 6 v o awsm 7 54
YHR AR Ter@ar i € ?

How did the popular movements help us to understand the nature of environmental
crisis in post-colonial India ? 10

gus ‘B’ SECTION ‘B’
Frafafea Fa=1 7 & TS &1 TR 150 Yea1 H GHIAEATHS T HIT
Critically examine the following statements in about 150 words each: 10x5=50
“EET T Tk T Weaferd S GG i AT 79 T |
‘Rousseau kindled a hope which became the spirit of the Enlightenment’. 10
‘it FAT T Efearaor, Auifaga @ Susfeal # e ged e ar |

‘The codification of French Law was perhaps the most enduring of Napoleon’s

achievements’. 10
ATRATG & ORI @ AwE Fm W # Uoeq 3 7 @ e a1 e |
Engels did much more than Marx himself to popularise the ideas of Marxism. 10

Y TAT IANH H TR SG F QA o bl TRRIHF foivg & | o Afeetrsit =t
37 AT H SY SeATH oA A erdT 6 |

‘Roaring Twenties’ in Europe and America had many positive points. It helped
women to uplift themselves in the region. 10

g guR st (1832) foed & waufe foem # wewyl @ w@ar @7 |
‘The first Reformation Act (1832) occupies a significant place in the constitutional
development of Britain’. 10

3 CRNA-S-HST



6.(a)

6.(b)

6.(c)

7.(a)

7.(b)

7.(c)

8.(a)

8.(b)

8.(c)

FT T TEAd & T SN sl & e womal & FROr STef U SR 6 3R oot |
sreatien 9fg g3 a6l QA AR AW T B W TG ¥ WS S 9 A= fea
T ? T I |

Do you agree that the economic effects of the Industrial Revolution were to add

enormously to wealth and capital on the one hand and to degrade the masses to
permanent poverty as the other ? Elucidate. 20

==t FIfg 5 form yaR wrfae, gg-uwm @t & ufy o s oar st aorifas

feRar, fada Tgare Swiel qar wrare & faeR & v & ¥ o |

Discuss how Fascism was a response to the post-war situation arising out of political

instability, thwarted nationalist hopes and fears of the spread of communism ?
: 20

T IR AT § TR ot qie qun w3 % whewwr & o feam & ot A

209 WG H TEE AT I G gg e ¢ favermor Aifvrg |

Do you feel that the Vietnamese fought the 20th century’s longest and bloodiest war
for their liberation and integration of their country ? Analyse. 10

T AT GHAS © T 1760 T8 1770 F TUF & SRIH ed # T il Y S @it
s st afed o= & 0 wewEye qednh wRe ot 7 favewor Fifv |

Do you understand that the lack of statesmanship in London during the 1760’s and
the 1770’s was, an important contributory factor in precipitating the American
Revolution. Analyse. 20

et SISy T form weR firamee Mate grr sioats € Aifaat aifeaa 99 & fasea
&+ forr SRt of ?

Discuss, how the policies adopted by Mikhail Gorbachev were responsible for the
disintegration of the USSR ? 20

1945 ¥ UM W& & HTh B o 91 AT & A1 FT G ? ATAT HIC |

What happened to Malaya after it was liberated from Japanese occupation in 1945 ?
Discuss. 10

Te fRUe srvaem Y st &1 quid FIfor | I B Uy fehaTelt TUsgl | S
T 4Ted o ?

Describe the launching of Non-Alignment Movement. Why the small nations wanted
to remain aloof from the powerful nations ? 20

Sf&ror STkt # gaaRan TG F AW A TE ? THh qea A @ o

Why was the apartheid policy introduced in South Africa? What were its main
features ? 20
Afe @Rt gant 7 afeat it srefimar ga sl swgw & 5 &g 9% aR w2

How far did Latin American countries overcome centuries of subjugation and
foreign intervention ? 10
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Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting questions :

There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH. -

Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5 are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each section.

The number of marks carried by a question [ part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer (QCA) Booklet must be clearly struck off.
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Qs A
SECTION A

Ql. TrfoRga woi ¥ @ ud® &1 W 150 YeEl § WHTEEAT S gRer
i :
Critically examine the following statements in about 150 words
each : 10x5=50

(a)

(b)

(c)

(d)

(e)

“SufievETg 1 SR WS € U fashd @k o, Fiite favem v
T I A BT @ foh SATIRIRT I Ueh M S Fe wfear W@ R 17

“Colonialism had a twisted logic of its own for commercialization. It
emerges on analysis to have been often an artificial and forced process.” 10

1857 % I, “Fueh 3MigierHl # fohaM T yq@ wifts & &9 & 3w & |7

After 1857, “the peasants emerged as the main force in agrarian
movements.” 10

“URdtE SR S ToHifae SaaT q9T SISl % SEEHEeEE 3
SHIIATYY] STIHM 3 AN icieH bl 5= fean |”

“Awakened political consciousness of Indian masses, bound with
dishonourable and cowardly insults of the British led to the movement of
Non-Cooperation.” 10

S TS 3 |l 3Tae AeieH Y YesTd i 99 I YEst § vk gwret
T I ae oft |7

When Gandhiji launched the Civil Disobedience Movement he was
“desperately in search of an effective formula.” 10

“are T % /9 3T gy ot fmied 1 wm e afe wdede o,
at fora nifa & 38 gemifea forn T Se@ ag o sft g0 & w17

“If abdication of British responsibility at the time of transfer of power
was callous, the speed with which it was done made it worse.” 10
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Q2. (a)

(b)

(c)

Q3. (a)

(b)

(c)

i i, ATA-AGL gl 3R FTA-HUST gl 3 Hid hl &0 ARG H Fe=ea
1 wfegfear @ aeqa: e & fon | ==t Hif |

The Carnatic Wars, the Anglo-Mysore Wars and the Anglo-Maratha
Wars had virtually eliminated the French from the contest of supremacy
in South India. Discuss.

WReTa qftae fadaeh, 1861 &1 SRqd Fd §U 3N &1 #7a o1 & wra & fog
THATH I9Yh G TR H FRbE amwmE o | fewof i |

While introducing the Indian Councils Bill of 1861, the British thought
that the only Government suitable for India ‘is a despotism controlled
from home’. Comment.

fiet fogie & 1@ 9o 99 ‘a8 "o 2 formd a6 fwa wgm e o e
% Mgl & I & e fogw @ o | favawo hifse |

The root of the whole question behind the Indigo Revolt ‘is the struggle
to make the raiyats grow indigo plants without paying them the price of
it’. Analyse.

T AY HeAd & b TERET WRA HR % IdeT H e U ges,
g FvENTet ag o ? foe=at HINT |

Do you agree that ‘the decline of traditional Indian artisan production
was a fact, sad but inevitable’ ? Discuss.

v s s FE REE W el Tee S aea § fifkd 3
e fafew wmmm &1 foly @ it wh T R WEWYU W TTud
# | foa=m s |

The historical significance of tribal and peasant uprisings in India ‘lies
in that they established strong and valuable traditions of resistance to
British rule’. Discuss.

‘Torifass TR qur Usgard) femmum & fmin ot yar e &% SewE H
ITed A B 99 T IgE Hregw o | feoanft i |

To accomplish the aims of education, ‘political propaganda and
formation as well as propagation of nationalist ideology’, the press

became the chief instrument. Comment.
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Q4. (a) FEITH-Tfiih GuR NidreHl 1 wEERa gfeHm Faw wh U aEitE
o 78 o, 39 e aoifae it T e 9 sreafis gwik
fopar’ | wlteror ifer |
The universalist perspective of socio-religious reform movements was

not a ‘purely philosophic concern; it strongly influenced the political and
social outlook of the time’. Examine. 20

(b) mmwwwmﬁmmﬁm,ﬂﬁ@mﬁw
HIE 3N T AR H wETHE oo waw wE o’ | fvere Hif |

The Congress Socialist Party agenda was not to cut off from the
Congress, but ‘intended to give the Congress and the national movement
a socialist direction’. Analyse. 20

(¢) T2 | fawew dquaTg 1 gferd Igca FFg whR 1948 @ 1953 % W & qTied
% SR | T ?

How did the factionalised Dalit leadership in Hyderabad undergo a
period of intense re-organization between 1948 and 1953 ? 10
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s B
SECTION B

Q5. FfeiRea woai # ¥ T&® &1 WU 150 Iedl H HHTGHATHS: Gequr

EIELE
Critically examine the following statements in about 150 words
each : 10x5=50

(a)

(b)

(c)

(d)

(e)

“mfehl @aEd # gg fadrTear 1783 § d9 WHIG g3 99 A 4 WY@
TS FHRERT ! TaAal sl Wiehfd SqH 6 |7 |

“The American War of Independence finally ended in 1783 when Britain
acknowledged the independence of the United States of America.” 10

“Giféze Tigem 3 T hadt AT a1 il FB AN B G0 R, fug $E gHEl
! Hfieh i 3R ufaen § f weg@ fovan mam |7

“The Chartist Movement not only fulfilled some of the demands of the
middle class, but its ramifications were felt among the working class and

the colonies as well.” 10

“1848 % TGl =l YT TR TSgaTg o foem & et /= o1 1”7

“The Revolutions of 1848 were shaped by the ideas of democracy and

nationalism.” 10

“1867 @ 1902 % HeA gfaur bRt | faifew wmwTSwaTg HTH 7 qH dSaet
GEAT g B o @ 9 guifaa or |7

“The British imperialism in South Africa from 1867 to 1902 was

influenced to a large extent by the capitalist mining of diamonds.” 10

“sfta g 6t TuTfta & IWGa 0. €. H ggEar At e At of of |7

“The supremacy of USA after the end of Cold War had its challenges as
well.” 10
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Q6.

Q7.

(a)

(b)

(c)

(a)

(b)

(c)

qifTehi SR foamanl 3 widieh wifa & Hfa wot @ wh 8, w=q 78 Fmlie
3R anfdfes R @ ISl oft | suwE Hifvw |

The philosophers and thinkers may have laid the foundation of the

French Revolution, but it was precipitated by social and economic’

reasons. Explain.

HAIFIATE THTSETE T3 ! T UE1 A5Tie auTeard fagid amar & ) 49e %
gfgr sl sIRE i # gam 2 | faaee iR |
Marxian socialism claims itself to be a scientific socialist theory capable

of explaining the history of humankind. Discuss.

THIGE 0T ST shifd aeh Hiftd T& o1, 3ifug amaamemg it i & fem
f 38 1fvE Tesh & | e hifsg |
Enlightenment was not confined to scientific revolution alone, but

humanism and ideas of progress too were its inseparable constituents.

Examine.

weg ot o fowa gfee W sfenfies sifa 1 wome wen feqw, ot Acuw sk
St seem & foamd # wfafsfea gar @ | Ruoft i |
The impact of industrial revolution on the middle class world view is

reflected in the views of Adam Smith, Thomas Malthus and Jeremy

Bentham. Comment.

1848 | 1870 H UW % Whoal dh 3ol o Uhishto & fafte =il it fad=mn
HIfvT |
Discuss the different stages of the unification of Italy from 1848 to the

occupation of Rome in 1870.

Jata 61 9fy # fgdta fava 3g & i gwifga 9 | s Hifo |
The Treaty of Versailles contained in itself the seeds of the Second
World War. Examine.
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Q8.

(a)

(b)

(c)

“Sa foefra fava 3g v gon @ wYw U W wHE A EvEmar off |7

T9eh! IUATUR] 3N KT 1 ITeeHTHS T HIfT |
“UNO was the necessity of the time when the World War II ended.”

Critically examine its achievements and shortcomings.

cfquigd wfirn # sufEw foeht orgem Y ypemd % Ufdmies wRU
9 — HEEpfdh A, TRETE e YR qun anEd e e S |
feramn hifs |

The historical causes for the rise of anti-colonial movement in
South-East Asia were cultural differences, spread of western education

and the emergence of Communist ideas. Discuss.

Arab nationalism was not only a cultural movement, but also an

anti-colonial struggle. Comment.
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